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Barwick | 0823 | 1024 [ 1242
Ullerdale | 08:42 | 10:43 | 1347
Nether Moor | 09:07 | 1108 | -
Penside | 0951 | 11:56 | -
FortBil 1042 | 1240 | 1420

Rachel wants (o be in Fort Bil before 1300,
Whatis the latest time that Rachel can leave Barwick?
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How much faster s the 1317 train from
Ullerdale to Fort Bill than the 0842 rain?.
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Mixed Practi

1)

2)

The last train into Fort Bill before
13:00 arrives at 12:40,

This train leaves Barwick at
10:24. (1 mark)

The 13:17 train arrives at 14:20
13:17 to 13:20 is 3 minutes
13:20 to 14:20 is 60 minutes

3 + 60 = 63 minutes

The 08:42 train arrives at 10:42
so it takes 2 hours, which is

2 x 60 = 120 minutes

120 - 63 = 57 minutes

(2 marks for the correct answer.
Otherwise 1 mark for finding
how long one of the trains
takes.)

120° + 60° = 180°
180° is half of 360°, so
48 + 2 = 24 children (1 mark)

News sector has an angle of 30°
B0l s
360 = 12 (! mark)




